Latin Imperfect Passive

Indicative

?B?R 1 SDJTAQ

EJMBSAPER

KEZZHRUT®?B?GELOQOQRSTZC

A P ER

X A CR

?B? TURJXDC I

XHGLEG?BARBEE?®??FLBVU

N

R?B?DNEVNBN?”AE®?BT

S

u ?

N ABG

L?DbocC?B?”MURA
TNAVENDZ??BARM

K

QH? ? RRB

MRAB?”VUI 2?7 MFVANZBEWU?

? PTC

uv?B?TURDB I

I
D?BUWRUX?BTZRH?MMANDO
oB? TRGFC? RKRUVB?UPAD

c?”?”M?UBOGUREUMEABRSDB S

CM?ROQ
?

?

B TDETTJUF?NR?U

BRN?NLNCWWQMBDUVTRMR
? E?MAAIJIQXYTM??2XU?7?2A?

RPHAB??HB ?R

S NVBR I BBOQB

AX??WTHAMYJU??2E??2N?7?

TFBBMYG

LUOFENAM?BARCUQXAAUE

S FVNGGBZSKARQQ

XNULAM?B?MURRFOHHML

EGO AM?RE
T? LEGERE

ID AM?RE

ID LEGERE

EGO LEGERE
ID DOC?RE
V?S LEGERE
ID APER?RE
T? DOC?RE

ID VENDERE
T? AM?RE

ID IUV?RE

N?S LEGERE
T? VENDERE

ID HAB?RE

EGO HAB?RE
EGO DOC?RE

N?S AM?RE
V?S AM?RE

EGO IUV?RE
N?S HAB?RE

EGO VENDERE
T? HAB?RE

T? APER?RE

EGO APER?RE V?S DOC?RE

N?S IUV?RE

V?S IUV?RE

V?S APER?RE

N?S DOC?RE

EA (THEY N.) IUV?RE

EA (THEY N.) AM?RE

EA (THEY N.) LEGERE



Solution

?B?2RI1I SDJTAQ
KEZZHRUT®?B?GELQQOQRSTC

EJMBSAPER

XA CR

? B?2TURJXD.C
XHGLEG?BARBEE™®? ?2FLBVU

A P ER

R? B ? DNEVNBN?AEZ®?BT

S
L? DOC?B?MURA

TNAVENDZ?BARM

N

u ?

N A B G

QH? 2?2 RR B

MRAB?VUI?MFVANBTEU?

K

uv?B?T TURBI ?PTZC
D? B UWRUX®? BTZRH?MMAN O

OB? TRGFC? RKRUVB?UPAD
cC?M?2UBOGUREUMEABIRSB S

?

CM?2RQ

?

B TDETTJUF?NR?U
BRN?NLNCWWQMBDUVTRMR

2 E?2MAAJQXYTM?2 2?2 XU?2?2A7?

|
RPHAB?B ?R

S NVBR I BB QB

AX?2?2WTHAMYJU®?2E??2N?

T FBBMY G

LUOFENAM?BARCUQXAAUE

S FVNGGBZSKARQ

XNULAM?B? MURRFOHHMIL



